bopita

ASSEMBLY INSTRUCTION UK
MONTAGE HANDLEIDING NL
MONTAGE ANLEITUNG D
NOTICE DE MONTAGE F
MANUAL DE MONTAJE ESP

Distributor:
BOPITA

Edisonweg 3, 6662 NW Elst
The Netherlands

www.bopita.com

MODEL
TYPE
COLOUR
ART.CODE

:COMBIFLEX

:BASIC BED 90X200
:WHITE
:430146.11.

02.04.2014.



8X

D

A

~

M6X100 8X|M6

artcode:441028 artcode:442QQ4

C

Ty

4X
8X
8X

4X
8x|3,5x25

30X|@8X40
1X

artcode:445001

lartcode: 431 006|grtcode:431 008

artcode: 446107 |artcode:446108

|artcode:4 31034 [artcode:

3,5X16
5X40






N

x| X X| X| 9 X
o o o
o § S S © 8 [Ge)
AN © —
< < ™
¥ b S | ¥ 2 .
g Y g N S
o § g o) § o §
m > 5 = m| 5 Q| &
| 0 X[ I~ x| © x| < X
I o o Ie) - o
O 5 NI O 5 Al S S
— (o] — — Ln
o I < ™) (40 <
Sl X < Q@ < <
Xl 3 S x| S nAwm 3
ol 8 8 | 3 x| & 8
< = & I M| | & a







bopita

ASSEMBLY INSTRUCTION UK MODEL :COMBIFLEX
MONTAGE HANDLEIDING NL TYPE :BACKSIDE STRAIGHT
MONTAGE ANLEITUNG D COLOUR WHITE

NOTICE DE MONTAGE F ART.CODE :410146.11.

MANUAL DE MONTAJE ESP

/°
\

Distributor:

BOPITA
Edisonweg 3, 6662 NW Elst
The Netherlands

www.bopita.com

20.02.2012.









bopita

ASSEMBLY INSTRUCTION
MONTAGE HANDLEIDING
MONTAGE ANLEITUNG
NOTICE DE MONTAGE
MANUAL DE MONTAJE

o
\

Distributor:

BOPITA

Edisonweg 3, 6662 NW Elst
The Netherlands

www.bopita.com

UK
NL

ESP

MODEL
TYPE
COLOUR
ART.CODE

:COMBIFLEX
:PROTECTION SIDE
WHITE
1412146.11.

20.02.2012.



1X

artcode: 445001

1X

artcode:

oX

2X|98X40

2X|M6X35

2XIM6
artcode: 441028 |artcode: 442004 |artcode: 44101 3 [artcode:

M6X100







1X

artcode: 445001

1X

artcode:

oX

2X|98X40

2X|M6X35

2X|M6
artcode: 441028 |artcode: 442004 |artcode: 44101 3 artcode:

M6X100







bopita

ASSEMBLY INSTRUCTION
MONTAGE HANDLEIDING
MONTAGE ANLEITUNG
NOTICE DE MONTAGE
MANUAL DE MONTAJE

3/(/

Distributor:

BOPITA
Energieweg 1
6662 NS Elst
The Netherlands

www.bopita.com

-b\

MODEL
TYPE
COLOUR
ART.CODE

1

: COMBIFLEX
:SUPPORTSET HS XL
:WHITE

:422146.11.

11.01.2022.



A B C D E F

e e | & 2| <

g6X1OO 12XI\H/I6 12XIM6X35  8X 4X %SXBO 14X 1X
I J

e @ - <

4X 4X 2X[3.5X16 20X@6X30  6X







N

&

Wi

AN




10










bopita

ASSEMBLY INSTRUCTION UK MODEL :COMBIFLEX

MONTAGE HANDLEIDING NL TYPE :STAIR STRAIGHT HS XL
MONTAGE ANLEITUNG D COLOUR WHITE

NOTICE DE MONTAGE F ART.CODE :482146.11.

MANUAL DE MONTAJE ESP

1

/.
\

/

\

2L

Distributor: ~

BOPITA
Edisonweg 3, 6662 NW Elst
The Netherlands

www.bopita.com

20.02.2012.



1X

2X

artcode:442004 |artcode: 445001

\

AN %/%

LAl

2X|M6

i

5X|@8X40

2X[M6X35

M6X100 _2X|M6X60

artcode: 441028 [artcode: 441040 |artcode: 44101 3| artcode:







bopita

ASSEMBLY INSTRUCTION
MONTAGE HANDLEIDING
MONTAGE ANLEITUNG
NOTICE DE MONTAGE
MANUAL DE MONTAIJE

UK
NL

ESP

MODEL
TYPE
COLOUR
ART.CODE

-

@ \/M y N\

O - /
8x ) 0

artcode: 972030 @ )

ONEERC B )
16x ' '

artcode: 972023 @ )

CEERC. B e )
24x . L '

artcode: 972021 )

Distributor:
LION INTERNATIONAL B.V,

Energieweg 1, 6662 NS Elst
The Netherlands

www.bopita.com

KEEP CAPS FOR FUTURE

:COMBIFLEX
:PLASTIC CAPS
:WHITE
1499146 11

S

09.01.2024.



	55014611 COMBIFLEX hsxl stair straight
	1
	2
	3
	4
	5
	6
	7

	49914611 I.S.plastic caps A4

